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VEHICLE HEIGHT ADJUSTMENT

General:

An exact height adjustment will provide the
necessary basis for the accompiishment of a
wheel alipnment check,

Hote!

Prior to proceeding with the adjustrent work,
prepare car acccrdLng to DIM reqoirements, i, €,,
road -ready including a full fuel tankand a spare
wheel on board,

Check tre pressure,

Drive the car onio the alignment ramp or level
floor, The vehicle must remain on its wheels,

Front Axle Height Adjustment

1, Mark dead center on dust covers of front wheel
hubs,

2, Depress fronr of car several times, by pushing
down on the bumper horns and allowing the
body to come up by itself on the rebound, to
set the suspension at proper attitude,

3, Measure the vertical distance berween the
front wheel center and a level part of the
tamp ot level floor (sec dimension "a" in
Fig. 5).

4, Value "a" minus 108 mm (4,25 in) equals value
"b", A height marker adjusted to value "b" can
be effectively used for taking measurements at
the torsien bar center,

5, Remove torsion bar dust cover at the adjusting
lever to gain access to the torsion bar centering
mark which should be uszed as a reference point,

6, Loosen or tighten the torsion bar adjusting screw
until value b is obtained ar the torsion bar center,

T, Depress fzont of car, allowing it to come up by
itself, and recheck height of both sides for value
b, correct if necessary,

Motel
Even though a * 5 mm deviation is permissible for

value b on either side, difference in height between
right and left sides must not be more than 5§ mm,

Example:
Valuea = 315 mm
- 108 mm
Value b = 207 mm = 5 mm (= 202 to 212 mm)

Based on the abave example where value b measures
207 mm with permissible deviations anywhere between
202 and 212 mm, the following adjustment possibilites
become evicent:

If value b on left side is 202 mm { = 207 minus §),
then value b on right side can be 202 ro 207 mm (up 1o
L 5mm difference), .

If value b on left side is 207 mm { = 207 - 0),

t+hen value b on right side can be 202 to 212 mm (up to
- & mm difference),

If value b or lefr tide is 212 mm ( = 207 plus 5),

then value b on right side can be 212 o 207 mm ( up to
- & mm difference),



Rear Axle Helght Adjustment

1. Depress rear of car several times by pushing 5. Measire the vertical distance between the reat
down on the bumper horos and allowing the wheel center and a level part of the alignment
body to come up by itself on the rebound to ramp or a level floor (see dimension "a" in

et suspension at proper atritude, Fig. 6

Fig. 6
4. Valpe "a" plus 12 mim equals value "b"; how= Exainple:
cver, value "b" cannot be measured since the
rorsion bar is off center Jue to mounting i & Valuga = 2315 mm
rubber bushing, . 12 mm
Value b = 327 mm Valuebh = 327 mm
- Bushing-cover radius = 30 mm
4, Value "b" less bushing-cover radius (1/2 dia-
meter) equals value “b1%. Valge b1 = 297 mm

Permissible tolerance for Value bl:

1f value bl on left side is 292 min {297 minus 5),

5. Measnre ficight of vehicle (value “hi"y with then value bl on right side can be 909 ta 300 mm
the help of a height marker or similar device, (up to + 8 mm difference),
The actual value bl should not differ from the If value bl on left side is 302 mm (297 minus a),
valeulated value bl (pts 8 and 4, above) by wen value bl an right side can be 204 1o 302 mm
imore than = & mim; in addiven, the licight dif- (up to - & mm difference),

ference between the right and left side should

not be more than & mm, §, 1 proper suspension adjustment values cannot be

achieved, proceed as follows:

a) Check height adjustment of front suspension
and correct if necessary,

by Check rear 1orsion bar adjustment and correct

if necessary.
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